$ %
& %
01+ %
0 ;o)
/ 100
1111111
2
'$ . 3
# %0 40 5
0 .0
C %
6 4
$% 7889: ;
p o
$ $% %
% %$$ $ 4
" % % % %

$ % $ $ $



an - RNY 7
:*{‘ ?u;’:a H o 0"“:
it o |
$ ;<=2

11[12 [13 |14 | 15| 16 20
21(22 (23|24 25| 26| 30
31(32 (33 ]34 35] 36| 40
41(42 |43 | 44| 45| 46| 50
51|52 |53 |54 55] 56| 60
61|62 |63 |64 65| 66|100

Adding the numbers that compose In this second Table there are
BASE 7 obtains the following only the numbers marked in yellow
Multiplication Times Table of the previous Table on the left
0 0 0 0 0 0 0 o 0/0/0/0/0[/0|0]|0 in the yellow Table :
0 1 2 3 4] 5 6|10 0/1/2/3|4|5|6(0 1 is present 6 times
0 2 4 6| 11] 13| 15] 20 0|2/4/6/1/3|5]|0 2 is present 6 times
0 3| 6] 12| 15/ 21| 24} 30 0[3|/6/2/5(1/4|0 3 is present 6 times
0] 4 11 15| 22| 26| 33| 40 0({4/15/2/6/3|0 4 is present 6 times
0 5 13| 21| 26| 34| 42] 50 0/5/3/1/6/4/2|0 5 is present 6 times
0 6] 15 24| 33| 42| 51| 60 0|6/5/4/3/2{1]0 6 is present 6 times
0 | 10 20 30/ 40/ 50| 60{100 0/0/0/0/0]/0|0]0
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